MODULAR SHOP SYSTEM
CATALOGUE 2009/01

PRASTEGAARD EEH









index

11

12

14

18

24

28

31

32

33

36

39

42

47

48

51

terms of sale and delivery

wall units

wall units / extensions

wall units / fitting for installation
light boxes

corner units / end plates metal
fittings / shelves

fittings / brackets - holders
dvd/cd

security

plates / for wall units W104cm
plates / for wall units W52cm
plates / top plates - end plates wood
cabinets / glass units - base units
podiums / table tops

desks / base units / table legs
glass / glass for top desks

glass / glass shelves

acrylic / price- and sign holders

preestegaard

- pricelist / january 2009



terms of sale and delivery

TERMS OF DELIVERY

TERMS OF PAYMENT

GURANTEE

RETURN GOODS

Most of the models will normally be stock goods, if not delivery time will be
approx. 10 weeks.

There will be an office hours at 8 days after order.

Unless otherwise agreed the products will be delivered by forwarder at
Puchasers own costs and risks.

The Purchaser are free to arrange collections of the goods at
Purchasers own costs and risks.

The goods will be delivered to Purchasers address due to the justice of
claims.

If Purchasers aks for delivery to another address the justice of claims
will be annulled.

Minimum order DKK 2.500,00 / EURO 336,75.
Order under this minimum will be accepted with an extra transport cost
of DKK 95,00 / EURO 12,75.

Unless otherwise agreed upon, terms of payment is net cash at delivery.

Claims relative to defects will be compensated with a new product from
Preestegaard Tegnestue ApS.

No claims and returns will be accepted without our authorisation.
Any claims or returns must be adviced of Purchaser no later than
2 days from delivery.

All returns, once accepted by Preestegaard Tegnestue ApS must be
sent to our warehouse in Veerkstedsgarden 14-15, DK-2620 Albertslund
in original packing and unused conditions within 7 days after delivery

at Purchasers own costs and risks.

Praestegaard Tegnestue ApS has all rights reserved to make
modifications to the products and prices without notice.
We make reservations on misprint.

PRAESTEGAARD |3%m ok

preestegaard - pricelist / january 2009



wall units / w1o4cm, for H31/65cm plates

code
no

1001/235

wall unit for plate code no 1101/31 and 1101/65
max weight per bar 50kg.

material

powder coated aluminium

included

2x adjusting screw M10

3x bolt M6x70

3x nut M6

1001/201

wall unit for plate code no 1101/31 and 1101/65
max weight per bar 50kg.

material

powder coated aluminium

included

2x adjusting screw M10

3x bolt M6x70

3x nut M6

1002/170

wall unit for plate code no 1101/31 and 1101/65
max weight per bar 50kg.

material

powder coated aluminium

included

2x adjusting screw M10

3x bolt M6x70

3x nut M6

1002/136

wall unit for plate code no 1101/31 and 1101/65
max weight per bar 50kg.

material

powder coated aluminium

included

2x adjusting screw M10

2x bolt M6x70

2x nut M6

1002/102

wall unit for plate code no 1101/31 and 1101/65
max weight per bar 50kg.

material

powder coated aluminium

included

2x adjusting screw M10

2x bolt M6x70

2x nut M6

height
cm

235

201

170

136

102

width
cm

104

104

104

104

104

depth
cm

weight colour
kg code

14,30 dark grey metallic / M1

13,00 dark grey metallic / M1

10,60 dark grey metallic / M1

8,0 dark grey metallic / M1

6,50 dark grey metallic / M1

preestegaard - pricelist / january 2009



wall units / W52cm, for H31/65¢cm plates

code height  width depth weight colour
no cm cm cm kg code

1001-52/235

wall unit for plate code no 1101-51/31 and 1101-51/65 235 52 5 8,90 dark grey metallic / M1
max weight per bar 50kg.

material

powder coated aluminium

included

2x adjusting screw M10

3x bolt M6x70

3x nut M6

1001-52/201

wall unit for plate code no 1101-51/31 and 1101-51/65 201 52 5 7,50 dark grey metallic / M1
max weight per bar 50kg

material

powder coated aluminium

included

2x adjusting screw M10

3x bolt M6x70

3x nut M6

1002-52/170

wall unit for plate code no 1101-51/31 and 1101-51/65 170 52 5 6,40 dark grey metallic / M1
max weight per bar 50 kg

material

powder coated aluminium

included

2x adjusting screw M10

3x bolt M6x70

3x nut M6

1002-52/136

wall unit for plate code no 1101-51/31 and 1101-51/65 136 52 5 4,50 dark grey metallic / M1
max weight per bar 50 kg

material

powder coated aluminium

included

2x adjusting screw M10

2x bolt M6x70

2x nut M6

1002-52/102

wall unit for plate code no 1101-51/31 and 1101-51/65 102 52 5 3,70 dark grey metallic / M1
max weight per bar 50kg.

material

powder coated aluminium

included

2x adjusting screw M10

2x bolt M6x70

2x nut M6

preestegaard - pricelist / january 2009



P.5 wall units / w1o4cm, for H14/31/48/65cm plates

code height  width depth weight colour

no cm cm cm kg code
1001/S/235

wall unit for plate code no 1101/14, 1101/31, 235 104 5 23,00 dark grey metallic / M1

1101/48 and 1101/65
max weight per bar 50kg.

8 _ material
7‘ powder coated aluminium
/ included
/El 2x adjusting screw M10
/ 3 bolt M6x70
% 3x nut M6
é
1001/S/201
wall unit for plate code no 1101/14, 1101/31, 201 104 5 21,00 dark grey metallic / M1

1101/48 and 1101/65
max weight per bar 50kg
material

powder coated aluminium
included

2x adjusting screw M10
3x bolt M6x70

3x nut M6

1002/S/170

wall unit for plate code no 1101/14, 1101/31, 170 104 5 14,90 dark grey metallic / M1
1101/48 and 1101/65

max weight per bar 50kg

material

powder coated aluminium

included

2x adjusting screw M10

3x bolt M6x70

3x nut M6

1002/S/136

wall unit for plate code no 1101/14, 1101/31, 136 104 5 13,80 dark grey metallic / M1
1101/48 and 1101/65

max weight per bar 50kg

material

powder coated aluminium

included

2x adjusting screw M10

2x bolt M6x70

2x nut M6

1002/S/102
wall unit for plate code no 1101/14, 1101/31, 102 104 5 11,00 dark grey metallic / M1

1101/48 and 1101/65
max weight per bar 50kg.
material

powder coated aluminium
included

2x adjusting screw M10
2x bolt M6x70

2x nut M6

preestegaard - pricelist / january 2009



O
o

wall units / ws2cm, for H14/31/48/65cm plates

code
no

1001-52/S/235

wall unit for plate code no 1101-51/14,
1101-51/31, 1101-51/48 and 1101-51/65
max weight per bar 50kg.

material

powder coated aluminium

included

2x adjusting screw M10

3x bolt M6x70

3x nut M6

1001-52/S/201

wall unit for plate code no 1101-51/14,
1101-51/31,1101-51/48 and 1101-51/65
max weight per bar 50kg

material

powder coated aluminium

included

2x adjusting screw M10

3x bolt M6x70

3x nut M6

1002-52/S/170

wall unit for plate code no 1101-51/14, 1101-51/31,
1101-51/48 and 1101-51/65

max weight per bar 50kg

material

powder coated aluminium

included

2x adjusting screw M10

3x bolt M6x70

3x nut M6

1002-52/S/136

wall unit for plate code no 1101-51/14, 1101-51/31,
1101-51/48 and 1101-51/65

max weight per bar 50kg.

material

powder coated aluminium

included

2x adjusting screw M10

2x bolt M6x70

2x nut M6

1002-52/S/102

wall unit for plate code no 1101-51/14, 1101-51/31,
1101-51/48 and 1101-51/65

max weight per bar 50kg.

material

powder coated aluminium

included

2x adjusting screw M10

2x bolt M6x70

2x nut M6

height
cm

235

201

170

136

102

width
cm

52

52

52

52

52

weight colour
kg code

14,90 dark grey metallic / M1

13,40 dark grey metallic / M1

8,40 dark grey metallic / M1

6,90 dark grey metallic / M1

5,60 dark grey metallic / M1

preestegaard - pricelist / january 2009



wall units / extensions

==

code height
no cm
1001/EX/68

extension for wall unit 1001/235, 1001/201, 1001/S/235, 68
1001/S/201 and 1004/EX/99.

max weight per bar 50kg.

material

powder coated aluminium

included

2x fitting for assembling to wall unit

2x bolt M6x70

2x nut M6

1001-52/EX/68

extension for wall unit 1001-52/235, 1001-52/201, 68
1001-52/S/235 and 1001-52/S/201.

max weight per bar 50kg.

material

powder coated aluminium

included

2x fitting for assembling to wall unit

2x bolt M6x70

2x nut M6

1001/EX/34

fitting for extension of wall units with plate 1101/65 or 34
1101-51/65.

material

powder coated aluminium

included

1x fitting for assembling to wall unit

2x bolt M6x70

2x nut M6

1001/EX/17

fitting for extension of wall units with plate 1101/48 or 17
1101-51/48.

material

powder coated aluminium

included

1x fitting for assembling to wall unit

1x bolt M6x70

1x nut M6

width
cm

104

52

depth
cm

2,5

2,5

weight colour
kg code

4,00 dark grey metallic /M1

2,60 dark grey metallic / M1

0,26 dark grey metallic / M1

0,15 dark grey metallic / M1

preestegaard - pricelist / january 2009



p.8 wall units - extension units /

preestegaard - pricelist / january 2009



wall units / fitting for installation

code height  width depth
no cm cm cm

1000

basic fitting for securing of wall unit to wall. 10 6,5 7,8
material

aluminium

1000/A

sectional fitting used together with basic fitting code no 1000
for securing of wall unit or alone for two-sided wall securing.
material

aluminium

included

2x bolt M6x20

code no

1000/11 11
1000/30 30
1000/63,5 63,5
1000/115,5 115,5
1002/A

fitting for securing of top plate code no 1102/A 1,5 102,5 7

for low wall unit 1002/170, 1002/136, 1002/102,
1002/S/170, 1002/S/136 and 1002/S/102 when
mounted as two-sided.

material

powder coated aluminium

1002/B

fitting for securing of top plate code no 1102/B 1,5 50,5 7
for low wall unit 1002-52/170, 1002-52/136, 1002-52/102,

1002-52/S/170, 1002-52/S/136 and 1002-52/S/102

when mounted as two-sided.

material

powder coated aluminium

1005

floor stander for mounting of freestanding wall units, low. 100 17,5 17,5
bolted in floor or bolted together with floor stander plate

code no 1005/P for mobile version

material

powder coated iron

weight colour

kg

0,10

0,07
0,19
0,40
0,76

1,30

0,70

3,90

code

dark grey metallic / M1

dark grey metallic / M1

dark grey metallic / M1

preestegaard - pricelist / january 2009



p‘l 0 wall units / fitting for installation

code height  width depth weight colour
no cm cm cm kg code

1005/P

floor stander plate for floor stander code no 1005 40 90 11,4 dark grey metallic / M1
material

powder coated iron

included

4x counterzink bolt M8x20

4x nut M8

PRASTEGAARD [ =

m

preestegaard - pricelist / january 2009



p.11 light boxes /

code height  width depth weight colour
no cm cm cm kg code

1001/LB )
, light box for wall units 104cm wide and extension unit 22,5 98,6 5,1 3,10 white
1001/EX/68

material

powder coated iron
included

2x set-screw D4,5xL16mm

\

|

light box for wall units 52cm wide and extension unit 22,5 46,6 5,1 1,50 white
1001-52/EX/68

/ material

powder coated iron

included

2x set-screw D4,5xL16mm

| 1001-52/LB

—

1001/LB-A
lighting fixture 220V for light box 1001/LB 87
incl. fluorescent tube 21W and cord with plug

0 1001-52/LB-A
lighting fixture 220V for light box 1001-52/LB 31
incl. fluorescent tube 8W and cord with plug

preestegaard - pricelist / january 2009



p.12 corner units - end plates /

code height  width depth weight colour
no cm cm cm kg code
[ 1020-90

corner units in 8 heights for joining of wall units two-sided
in an angel of 90 degrees.

material
[ powder coated aluminium
included
— 16x bolt/R M6x40 / 16x nut M6 f/code no 1020-90/303
12x bolt/R M6 / 12x nut M6 for the remaining code no's.
code no
1020-90/303 303 16,5 16,5 5,05 light grey metallic / M2
1020-90/269 269 - : 4,50 -
1020-90/252 252 " " 4,20
1020-90/235 235 " - 3,90
1020-90/201 201 " - 3,40
1020-90/170 170 h ) 2,90
1020-90/136 136 i - 2,20
1020-90/102 102 ) " 1,70
L
M 1021-90
corner profile in 6 heights for joining of wall units in an angel
of 90 degree. You can order speciel corner profile of 45 w/height
height 235cm or 22,5 degree w/height 235cm and 201cm.
i material
powder coated aluminium
n included
8x bolt/R M6x40 / 8x nut M6 for code no 1021-90/303
M 6x bolt/R M6 / 6x nut M6 for the remaining code no's.
code no
1021-90/303 303 6,2 6,2 1,90 dark grey metallic / M1
1021-90/235 235 - - 1,40 "
1021-90/201 201 1,20
1021-90/170 170 : : 1,10
1021-90/136 136 : : 0,90
1021-90/102 102 " " 0,60
b 1021-45/235 235 - - 1,40
= 1021-22,5/235 235 " " 1,40
1021-22,5/201 201 : h 1,20
] 1022
end plates in 6 heights for mounting on wall units
[] for single installation
[ end plates in 2 heights for mounting on wall units
[ for two-sided installation
the width is adjusted to length of sectional fitting code
— 1000/A length 11 cm.
material
[] powder coated aluminium
included
4x bolt/R M6x40 / 4x nut M6 f/code no 1022/303
3x bolt/R M6x40 / 3x nut M6 f/code no 1022/269, 1022/252,
1022/235, 1022/201 and 1022/170
6x bolt/R M6x40 / 6x nut M6 f/code no 1022/136 and 1022/102
code no
1022/303 303 14,6 2,50 light grey metallic / M2
1022/269 269 : 2,30 :
= e e 1022/252 252 " 2,10
1022/235 235 : 2,00
1022/201 201 : 1,60
1022/170 170 - 1,40
1022/136 136 - 1,00
1022/102 102 : 0,80

preestegaard - pricelist / january 2009



p.13 corner units - endplates /

preestegaard - pricelist / january 2009



p.14 fittings / shelves

code height  width depth weight colour
no cm cm cm kg code

1007-98

shelf with 3cm front edge. 98 38 4,00 light grey metallic / M2
max weight 50kg.

material

powder coated aluminium

included

2x indsets w/adjusting screw

1008-98

shelf with 3cm front edge. 98 26 3,00 light grey metallic / M2
max weight 50kg.

material

powder coated aluminium

included

2x indsets w/thread and adjusting screw

1007-70

shelf with 3cm front edge 70 38 3,00 light grey metallic / M2
max weight 50kg.

material

powder coated aluminium

included

2x indsets w/thread and adjusting screw

1008-70

shelf with 3cm front edge 70 26 2,20 light grey metallic / M2
max weight 50kg.

material

powder coated aluminium

included

2x indsets w/thread and adjusting screw

1009-43

shelf with 3cm front edge 43 38 2,00 light grey metallic / M2
max weight 50kg.

material

powder coated aluminium

included

1x indsets w/thread and adjusting screw

preestegaard - pricelist / january 2009



fittings / shelves

code height  width
no cm cm

1010-43

shelf with 3cm front edge 43
max weight 50kg.

material

powder coated aluminium

included

1x indsets w/thread and adjusting screw

1011/A5

oblique shelf for brochure size A5 with 5cm front edge 15,5
max weight 50kg.

material

powder coated aluminium

1011/A4

oblique shelf for brochure size A4 with 5cm front edge 21,5
max weight 50kg.

material

powder coated aluminium

1011/A3

oblique shelf for brochure size A4/A3 or laptop with 5cm front edge 43
max weight 50kg.

material

powder coated aluminium

1011/B

oblique shelf for brochure size A4/A3 or laptop with 5cm front edge 98
max weight 50kg.

material

powder coated aluminium

depth
cm

26

30

30

30

weight colour
kg code

1,50 light grey metallic / M2

0,47 light grey metallic / M2

1,00 light grey metallic / M2

1,50 light grey metallic / M2

3,50 light grey metallic / M2

preestegaard - pricelist / january 2009



fittings / shelves

N

code
no

1011-A4/F

standard holder for A4 brochure stander f/floor
material

powder coated iron

included

1x bolt

1012/A

shelf for small products as camera, loudspeakers etc.

max weight 15kg.
material
powder coated aluminium

1012/B

shelf for small products as camera, loudspeakers etc.

max weight 15kg.
material
powder coated aluminium

1012/C
shelf for cd/dvd

contents: cd: back display 46 pcs. / front display 45 pcs.
dvd: back display 30 pcs. / front display 24 pcs.

height  width
cm cm
85 23
15
15

46,5

when using dvd-/cd-indsets the quantity of products reduces

see page 25

max weight 15kg.
material

powder coated aluminium

depth
cm

32

10

20

15,5

weight colour
kg no

10,00 light grey metallic / M2

0,25 light grey metallic / M2

0,36 light grey metallic / M2

1,10 light grey metallic / M2

preestegaard - pricelist / january 2009



p.17 fittings / shelves

preestegaard - pricelist / january 2009



fittings / brackets - holders

es coe ses ses see |

code height
no cm
1070

fitting for hanging of flat screen. 31

holes according to Vesa standard

max 50kg. (max 50kg per bar on wall unit)
material

powder coated aluminium

1070/HT

fitting for hanging of loudspeaker / small flatscreen 7,3
max 25kg. (max 50kg per bar on wall unit)

material

powder coated iron

1013

bracket.

choose between length 35 or 45cm.

max weight 25kg. (max 50kg per bar on wall unit)
material

powder coated iron

included

1x adjusting screw

code no

1013-35 14
1013-45 14
1013/H

bracket, high.

choose between length 35, 45 or 52cm.

max weight 25kg. (max 50kg per bar on wall unit)
material

powder coated iron

included

1x adjusting screw

code no

1013/H-35 28
1013/H-45 28
1013/H-52 28
1013/G

bracket, low. 7

max weight 20kg. (max 50kg per bar on wall unit)
material

powder coated iron

included

1x adjusting screw

width depth weight colour
cm cm kg code
12,5 0,40 light grey metallic / M2

35
45

35
45
52

32

0,12 light grey metallic / M2

0,90 light grey metallic / M2
1,10 :

1,10 light grey metallic / M2
1,30 "
1,40

0,70 light grey metallic / M2

preestegaard - pricelist / january 2009



fittings / brackets - holders

/77T

=

code
no

1014

holder for glass shelf code no 1210-5 og 1210-5/R
and/or as dress rail

max weight 50kg. (max 50kg per bar on wall unit)
material

powder coated iron

included

2x adjusting screw

4x distance tubes

4x bumpon

1015

holder, curved for hanging accessories or as dress rail.

max 50kg. (max 50kg per bar on wall unit)
material
powder coated iron

1015-S

holder for hanging clothes or as holder for glass shelf.
max weight 50kg. (max 50kg per bar on wall unit)
material

powder coated iron

included

1x adjusting screw

1015-SB

bar incl. 2x fittings for mounting on plates for hanging
of clothes.

max weight 50kg. (max 50kg per bar on wall unit)
material

powder coated iron

included

2x adjusting screw

1080

holder for coils of cables

max weight 50kg.

material

powder coated iron

included

2x tubes length 48cm w/4x screws for fixing
2x tubes length 98cm w/4x screws for fixing

height
cm

4,5

3,8

65

width
cm

87

100/50

depth
cm

32

40

42

104

25

weight colour
kg code

3,40 light grey metallic / M2

0,22 light grey metallic / M2

0,64 light grey metallic / M2

1,32 light grey metallic / M2

11,50 light grey metallic / M2

preestegaard - pricelist / january 2009



p.20 fittings / brackets - holders

preestegaard - pricelist / january 2009



fittings / holders - accessories box

code height  width
no cm cm

1023

box with adjustable bottom plate and holder f/sign 65 45
incl. acrylic plates.

material

powder coated iron / clear acrylic

included

3x wheels

1017

fitting for accessories, single 6,5 3
max weight 2kg.

distance from top to hook 2cm.

material

powder coated iron

1017/D

fitting for accessories, singel 14 3
max weight 2kg.

distance from top to hook 10cm

material

powder coated iron

1017/A

fitting for accessories, double 22,5 3
distance from top to first position of hook 2cm.

distance between hooks 16cm.

max weight 3kg.

material

powder coated iron

1017/B

fitting for accessories, double 20 3
distance from top to first position of hook 2cm.

distance between hooks 13,5cm.

max weight 3kg.

material

powder coated iron

depth weight colour
cm kg code
45 18,00 light grey metallic / M2

21,2

21,2

21,2

21,2

0,10 light grey metallic / M2

0,12 light grey metallic / M2

0,21 light grey metallic / M2

0,21 light grey metallic / M2

preestegaard - pricelist / january 2009



p.22 fittings / holders

code height  width depth weight colour

no cm cm cm kg code

1017/S

safety lock used for securing of products 85 0,17 light grey metallic / M2
placed on code no 1017, 1017/D, 1017/A and 1017/B

material

powder coated iron

1019

holder for hat or ball 11 26 0,14 light grey metallic / M2
material

powder coated iron

1025

holder for remote control 28 0,72 light grey metallic / M2
material

powder coated iron

preestegaard - pricelist / january 2009



fittings / holders

P.23

PRESTEGAARD




dvd/cd / wall units - shelves

~

code height
no cm
1004/EX/99

extension for wall unit code no 1004/136 for 99

cd/dvd products

use 3 pcs. shelf code no 1004/AS for 1004/EX/99
and 1 pcs. 1101/48 plate (top)

material

powder coated iron

included

2x fitting for assembling

2x bolt M6x70

2x nut M6

1004/136

wall unit, low for cd/dvd products. 136
use 4 pcs. shelf code no 1004/A, 1 pcs. 1004/AS

and 1 pcs. 1101/14 plate (top).

Plate left out when mounted together with 1004/EX/99.
material

powder coated iron

included

4x adjusting screw

3x bolt M6x70

3x nut M6

1004/A
shelf for cd/dvd for wall unit code no 1004/136. 24
contents: cd: back display 102 pcs. / front display 98 pcs.
dvd: back display 68 pcs. / front display 63 pcs.
when using dvd-/cd-indsets the quantity of products reduces.
see page 25.
material
powder coated iron

1004/AS
shelf for cd/dvd, oblique for wall unit 1004/EX/99 24
and 1004/136.
contents: cd: back display 102 pcs. / front display 98 pcs.
dvd: back display 68 pcs. / front display 63 pcs.
when using dvd-/cd-indsets the quantity of products reduces.
see page 25.
material
powder coated iron

1004/CN

cd/dvd end for cd-. and dvd indsets 1004/H, 1004/G, 10,65
1004/F, 1004/1, 1004/J and 1004/K.

material

powder coated iron

width
cm

104

104

103

103

depth
cm

5/25

weight colour
kg code

6,40 dark grey metallic/M1

15,50 dark grey metallic/M1

1,60 light grey metallic/M2

1,60 light grey metallic/M2

0,04 light grey metallic

preestegaard - pricelist / january 2009



dvd/cd / indsets

= o

= o

= o

code
no

1004/H

indset, 8 tracks for cd without safer.

f/shelf code no 1004/A and 1004/AS.
contents: 56 pcs. cd's without safer.

material

powder coated aluminium

1004/G

indset, 6 tracks for cd with safer or dvd without safer.
f/shelf code no 1004/A and 1004/AS.

contents: 42 pcs. cd with safer(T14mm) or 42 pcs. dvd
without safer.

material

powder coated aluminium

1004/F

indset, 5 tracks for dvd with safer.

f/shelf code no 1004/A and 1004/AS.
contents: 30 pcs. dvd with safer(T22mm).
material

powder coated aluminium

1004/1

indset, 8 tracks for cd without safer.
f/shelf code no 1012/C.

contents: 24 pcs. cd's without safer.
material

powder coated aluminium

1004/J

indset, 6 tracks for cd with safer or dvd without safer.
f/shelf code no 1012/C.

contents: 18 pcs. cd with safer(T14mm) or 18 pcs. dvd
without safer.

material

powder coated aluminium

1004/K

indset, 5 tracks for dvd with safer.

f/shelf code no 1012/C.

contents: 15 pcs. dvd with safer(T22mm).
material

powder coated aluminium

height  width
cm cm

102,4

102,4

102,4

46,5

46,5

46,5

depth
cm

weight colour
kg code

1,30 light grey metallic/M2

1,30 light grey metallic/M2

1,30 light grey metallic / M2

0,65 light grey metallic / M2

0,65 light grey metallic / M2

0,65 light grey metallic / M2

preestegaard - pricelist / january 2009



dvd/cd / end plates

code height
no cm
1004/S/136

end plate, low for wall units code no 1004/136 mounted 136

two-sided with wall unit code no 1002/136 or

code no 1002/S/136. The width is adjusted to length of
sectional fitting code no 1000/A length 11cm.

material

powder coated aluminium

included

6x bolt/R M6x40

6x nut M6

1004/SD/136

end plate, low for wall units code no 1004/136 136
two-sided mounted.

the width is adjusted to length of sectional fitting

code no 1000/A length 11cm.

material

powder coated aluminium

included

6x bolt/R M6x40

6x nut M6

1004/S/235

end plate, high for wall units code no 1004/EX/99 235
and 1004/136. The width is adjusted to length of

sectional fitting code no 1000/A length 11cm.

material

powder coated aluminium

included

4x bolt/R M6x40

4x nut M6

1004/SD/235

end plate, high for wall units code no 1004/EX/99 and 235
1004/136 two-sided mounted.

the width is adjusted to length of sectional fitting

code no 1000/A length 11cm.

material

powder coated aluminium

included

6x bolt/R M6x40

6x nut M6

width
cm

14,8/34,8

14,8/54,8

14,6/36

14,8 /54,8

kg

1,50

2,10

2,40

2,70

depth weight colour

code

light grey metallic/M2

light grey metallic/M2

light grey metallic/M2

light grey metallic/M2

preestegaard - pricelist / january 2009



PRASTEGAARD EE =

preestegaard - pricelist / january 2009



security / holders for camera - mobile phone - mp3

code height  width depth weight colour

no cm cm cm kg code

1406/S

holder for security, oblique for mobile phone, mp3 5,9 4 28,1 0,27 light grey metallic / M2

and navigation.

mounted on plate code no 1406/P/7, 1406/P/6,
1406/P-4 or 1406/P-51-2. Can also be mounted on desk
material

powder coated iron

included

1x fitting f/mounting on wall plate

4x wooden screw

1x plastic plug for locking of recoiler cable

1x bolt M6x20

1406/L

holder for security, vertical for mobile phones, mp3 8,1 4 23 0,27 light grey metallic / M2
and navigation.

mounted on plate code no 1406/P/7, 1406/P/6,
1406/P-4 or 1406/P-51-2. Can also be mounted on desk
material

powder coated iron

included

1x fitting f/mounting on wall plate

4x wooden screw

1x plastic plug for locking of recoiler cable

1x bolt M6x20

1406/V

holder for security, horizontal for still camera. 5,2 6 28,2 0,27 light grey metallic / M2
mounted on plate code no 1406/P/7, 1406/P/6,

1406/P-4 or 1406/P-51-2. Can also be mounted on desks
material

powder coated iron

included

1x fitting f/mounting on wall plate

4x wooden screws

1x plastic plug for locking of recoiler cable

1x bolt M6x20

1406/VV

holder for security, horizontal - large for still- and 5,2 6 33,2 0,27 light grey metallic / M2
camcorder camera.

mounted on plate code no 1406/P/7, 1406/P/6,
1406/P-4 or 1406/P-51-2.

material

powder coated iron

included

1x fitting f/mounting on wall plate

4x wooden screw

1x plastic plug for locking of recoiler cable

1x bolt M6x20

1406/FIT

fitting for securing of holder for security to wall plate 6 6 1,5 0,07 light grey metallic / M2
material

powder coated iron

included

4x wooden screw

1x bolt M6x20

preestegaard - pricelist / january 2009



Secu rity / plates - electronic security

dessin 01

dessin 01

dessin 02

a

dessin 02

code height  width depth weight colour
no cm cm cm kg code
1406/P-7

plate for wall units code no 1001/235, 1001/201, 1002/170,

1002/136 and 1002/102 with holes for 7 pcs. security holders

code no 1406/S, 1406/L, 1406/V and 1406/VV.

included

2x wooden screw

material

mdf melamine, dessin 01 31 103 1,5 3,70 white

1406/P-6

plate for wall units code no 1001/235, 1001/201, 1002/170,

1002/136 and 1002/102 with holes for 6 pcs. security holders

code no 1406/S, 1406/L, 1406/V and 1406/VV.

included

2x wooden screw

material

mdf melamine, dessin 01 31 103 1,5 3,70 white

1406/P-4

plate for wall units code no 1001/235, 1001/201, 1002/170,

1002/136 and 1002/102 with holes for 4 pcs. security holders

code no 1406/S, 1406/L, 1406/V and 1406/VV.

included

2x wooden screw

material

mdf wetpainting, dessin 02 31 103 1,5 3,70 white

1406/P-51-2

plate for wall units code no 1001-52/235, 1001-52/201,

1002-52/170,1002-52/136 and 1002-52/102 with holes

for 2 pcs. security holders code no 1406/S, 1406/L,

1406/V and 1406/VV.

included

2x wooden screw

material

mdf wetpainting, dessin 02 31 51 1,5 1,90 white

1406/E

spiralsensor for mobile phone, mp3 and navigation.

camera adapter incl. recoiler cable for still camera or camcorder- 1 pcs. per product
splitterbox - for 12 products total

alarm unit - reader - powersupply will be delivered as a set

cardholder incl. yo-yo and card - number as required

For more information concerning electronic security please look at web-address www. sensorline.dk

preestegaard - pricelist / january 2009



p.30 security / for camera - mobile phone - mp3

preestegaard - pricelist / january 2009



plates / for wall units W104cm

i

dessin 02 dessin 01

i

dessin 02 dessin 01

i

dessin 02 dessin 01

i

dessin 02 dessin 01

LOEO

code height  width depth weight colour
no cm cm cm kg code
1101/14

plate for wall units code no 1001/5/235, 1001/S/201,
1002/S8/170,1002/S/136, 1002/S/102 and 1004/136 (top).

choose straight edge dessin 01 or rounded edge dessin 02.

included

2x wooden screw

material

mdf melamine / dessin 01 14 103
mdf melamine / dessin 01 14 103
mdf wetpainting / dessin 02 14 103
mdf wetpainting / dessin 02 14 103

1,60
1,60
1,60
1,60

—_
[S6) N6, 6]

1101/31

plate for wall units code no 1001/235, 1001/201, 1002/170,

1002/136, 1002/102, 1001/S/235, 1001/S/201, 1002/S/170,

1002/S/136 and 1002/S/102

choose straight edge dessin 01 or rounded edge dessin 02.

included

2x wooden screw

material

mdf melamine / dessin 01 31 103
mdf melamine / dessin 01 31 103
mdf wetpainting / dessin 02 31 103
mdf wetpainting / dessin 02 31 103
mdf veneer / dessin 01 31 103

3,70
3,70
3,70
3,70
3,70

—_
oo,

1101/48

plate for wall units code no 1001/S/235, 1001/S/201 and
1004/EX/99(top).

choose straight edge dessin 01 or rounded edge dessin 02.

included

2x wooden screw

material

mdf melamine / dessin 01 48 103 1,5

mdf melamine / dessin 01 48 103 1,5 6,10
mdf wetpainting / dessin 02 48 103 1,5 6,10

1101/65

plate wall unit units code 1001/235, 1001/201, 1002/170,

1002/136, 1002/102, 1001/S/235, 1001/S/201, 1002/S/170,

1002/S/136 and 1002/S/102.

choose straight edge dessin 01 or rounded edge dessin 02.

included

4x wooden screw

material

mdf melamine / dessin 01 65 103
mdf melamine / dessin 01 65 103
mdf wetpainting/ dessin 02 65 103
mdf wetpainting / dessin 02 65 103
mdf veneer / dessin 01 65 103

7,60
7,60
7,60
7,60
7,60

_ a4
oo,

1101/LOGO

logo cut-out in plate for wall units incl. opal acrylic plate.
used together with light box code no 1001/LB.

choose between plate code no 1101/31, 1101/48 or 1101/65
mdf wetpainting/ dessin 01 or 02

maple
white
white
black

maple
white
white
black
walnut

maple
white

white

black

walnut

preestegaard - pricelist / january 2009



p32 plates / for wall units W52cm

code height  width depth weight colour
no cm cm cm kg code
|:| 1101-51/14
plate for wall unit code no 1001-52/S/235, 1001-52/S/201,
1002-52/S/170, 1002-52/S/136 and 1002-52/S/102.
—_ Choose straight edge dessin 01 or rounded edge dessin 02.
included
2x wooden screw
material
D ﬂ mdf melamine / dessin 01 14 51 1,5 0,88 maple
dessin 02 dessin 01 mdf melamine / dessin 01 14 51 1,5 0,88 white
mdf wetpainting / dessin 02 14 51 1,5 0,88 white
mdf wetpainting / dessin 02 14 51 1,5 0,66 black
1101-51/31

plate for wall unit code no 1001-52/235, 1001-52/201,
1002-52/170, 1002-52/136, 1002-52/102, 1001-52/S/235,
1001-52/S/201,1002-52/S/170, 1002-52/S/136 and
1002-52/S5/102
choose straight edge dessin 01 or rounded edge dessin 02.
included

2x wodden screw
D ﬂ material
dessin 02 dessin 01 mdf melamine / dessin 01 31 51
mdf melamine / dessin 01 31 51
mdf wetpainting / dessin 02 31 51
mdf wetpainting / dessin 02 31 51

maple
white
white
black

_
oo,

1101-51/48

plate for wall unit code no 1001-52/S/235 and 1001-52/S/201

choose straight edge dessin 01 or rounded edge dessin 02.

included

2x wooden screw

material

mdf melamine / dessin 01 48 51 1,5 2,78 white
mdf wetpainting / dessin 02 48 51 1,5 2,78 white

]

dessin 02 dessin 01

1101-51/65
plate for wall units code no 1001-52/235, 1001-52/201,
1002-52/170, 1002-52/136, 1002-52/102, 1001-52/S/235,
1001-52/8/201, 1002-52/S/170, 1002-52/S/136 and
1002-52/S/102.
Choose straight edge dessin 01 or rounded edge dessin 02.
included
4x wooden screw
material
mdf melamine / dessin 01 65 51
ﬂ ﬂ mdf melamine / dessin 01 65 51
mdf wetpainting / dessin 02 65 51
mdf wetpainting / dessin 02 65 51

&@@@ 1101-51/LOGO
logo cut-out in plate for wall units incl. opal acrylic plate.

used together with light box code no 1001-52/LB.
choose between plate code no 1101-51/31, 1101-51/48
or 1101-51/65

mdf wetpainting/ dessin 01 or 02

—_

4,30 maple
4,30 white
4,30 white
4,30 black

LR RO RS

dessin 02 dessin 01

—_

preestegaard - pricelist / january 2009



plates / top plates

a

dessin 02

]

a

dessin 02

]

dessin 01

]

dessin 01

code height
no cm
1102/A

top-plate for two-sided mounting of wall unit code 1002/170,
1002/136, 1002/102, 1002/S/170, 1002/S/136, 1002/S/102
and 1004/136 fixed by fitting code no 1002/A

Choose straight edge dessin 01 or rounded edge dessin 02.
included

6x wooden screw

material

mdf melamine / dessin 01 1
mdf melamine / dessin 01 1
mdf wetpainting / dessin 02 1,
mdf wetpainting / dessin 02 1

1102/B
top-plate for two-sided mounting of wall unit code 1002-52/170,
1002-52/136, 1002-52/102, 1002-52/S/170, 1002-52/S/136
and 1002-52/S/102.

Choose straight edge dessin 01 or rounded edge dessin 02.
included

4x wooden screw

material

mdf melamine / dessin 01

mdf melamine / dessin 01

mdf wetpainting / dessin 02

mdf wetpainting / dessin 02

width

cm

104
104
104
104

depth weight colour
cm kg code
18,2 ,10 maple
18,2 1,10 white
18,2 1,10 white
18,2 ,10 black
18,2 0,88 maple
18,2 0,88 white
18,2 0,88 white
18,2 0,88 black

preestegaard - pricelist / january 2009



p34 plates / end plates

code height  width depth weight colour
no cm cm cm kg code
1103/R

plates in 7 heights used as end plates, based on

cut up to various depths
[ ] material
— mdf wetpainting / dessin 02

- code no
1103/R-303 303 35 1,5 12,40 white
1103/R-269 269 35 1,5 12,00 white
1103/R-252 252 35 1,5 11,00 white
1103/R-235 235 35 1,5 10,50 white
1103/R-218 218 35 1,5 9,50 white
1103/R-201 201 35 1,5 8,20 white
1103/R-170 170 35 1,5 6,90 white

L J L dessin 02
1103/DR
plates in 7 heights used as end plates on mutual
[] mounted wall units. The width is adjusted to length
— of sectional fitting code no 1000/A length 11cm.
material
] mdf wetpainting / dessin 02

code no
1103/DR-269 269 15 1,5 5,40 white
1103/DR-252 252 15 1,5 4,80 white
1103/DR-235 235 15 1,5 4,20 white
1103/DR-201 201 15 1,5 3,20 white
1103/DR-170 170 14,6 1,5 2,80 white
1103/DR-136 136 14,6 1,5 2,20 white

D 1103/DR-102 102 14,6 1,5 1,80 white

(I I | . dessin 02

1103
plate used for end plate.
based on cut up to various depths
material
mdf melamine / dessin 01 235 29 1,5 10,50 white

]

dessin 01

preestegaard - pricelist / january 2009



preestegaard - pricelist / january 2009



P.36 cabinets / glass units / base units

code height  width depth weight colour
no cm cm cm kg code
1124/133

glass unit for wall unit W104cm

included

4x 12V/20W built-in spots incl. bulbs

1x transformer 120W incl. cord and EU plug

2x locks

4x hinges

8x glass shelves incl. 32x holder f/glass shelves

6x wooden screws for hanging on wall unit

material

mdf wetpainting / dessin 02

clear glass, hardened 133 103 25 55,00 white

1124B/65

base unit as single or together with glass unit
code no 1124/133

included

2x locks

2x handles

4x hinges

4x shelves incl.16x holders f/shelves

4x adjusting screw

4x wooden screws for hanging on wall unit
material

mdf wetpainting / dessin 02 65 103 26,5 32,00 white

1124BD/65
base unit as single or together with glass unit
code no 1124/133
s[® included
2x locks
2x handles
4x hinges
4x shelves incl. 16x holders f/shelves
4x adjusting screw
4x wooden screws for hanging on wall unit
material
mdf wetpainting / dessin 02 65 103 39,5 35,00 white

1124BD/31

base unit as singel or as podium

included

2x locks

2x handles

4x hinges

2x shelves incl. 8 holders f/shelves

4x adjusting screw

2x wooden screws for hanging on wall unit

material

mdf wetpainting / dessin 02 31 103 39,5 25,00 white
mdf wetpainting / dessin 02 31 103 39,5 25,00 black

1124BDD/31

base unit with drawers as singel or as podium
included

2x locks

2x handles

2x drawers

4x adjusting screw

2x wooden screws for hanging on wall unit

material
mdf wetpainting / dessin 02 31 103 39,5 26,50 white
mdf wetpainting / dessin 02 31 103 39,5 26,50 black

preestegaard - pricelist / january 2009



cabinets / glass units / base units

code height  width depth
no cm cm cm
1124BD/40

base unit height 40,8cm for hanging on wall unit
with top-hinged door including 1 plate

included

2x hidden swing up hinges

1x lid stay, 90 degrees with bracking effect

4x wooden screws for hanging on wall unit

1x plate H22xW103xT1,5cm f/hanging on wall unit

material
mdf wetpainting / dessin 02 65 103 39,5
mdf wetpainting / dessin 02 65 103 39,5

1124-51/133

glass unit for wall units W52cm

included

2x 12V/20W built-in spots incl. bulbs

1x transformer 120W incl. cord and EU plug

1x lock

2x hinges

4x glass shelves incl. 16x holders f/glass shelves
6x wooden screw for hanging on wall unit
material

mdf wetpainting / dessin 02

clear glass, hardened 133 51 25

1124-51B/65

base unit as single or together with glass unit
code no 1124-51/133

included

1x lock

1x handle

2x hinges

2x shelves incl. 8x holders f/shelves

4x adjusting screw

4x wooden screw for hanging on wall unit
material

mdf wetpainting / dessin 02 65 51 26,5

1124/F/184

freestanding glass unit incl. base unit
included

4x 12V/20W built-in spots incl. bulbs

1x transformer 120W incl. cord and EU plug
3x locks

1x handles

4x hinges

3x glass shelves incl. 12x holders f/glass shelf
4x adjusting screw

material

mdf wetpainting / dessin 02

clear glass, hardened 184 51 51

weight
kg

20,50
20,50

32,50

15,00

30,80

preestegaard - pricelist / january 2009

colour
no

white
black

white

white

white



p.38 cabinets / glass units / base units

PRESTEGAARD

praestegaard - pricelist / january 2009



p.39 podiums / addition podium

code height  width depth weight colour

no cm cm cm kg code

PO/ADD - A

top plate for addition podiums w/hole f/cable

material

mdf wetpainting 2,5 65 65 7,30 white

PO/ADD - B

quadratic corpus, low

included

4x adjusting screw

material

mdf wetpainting 32 65 65 17,50 white

PO/ADD - D

quadratic corpus, high

included

4x adjusting screw

material

mdf wetpainting 62,5 65 65 28,70 white
5 5 5
2 3 3
2 2 2
@© © ©

preestegaard - pricelist / january 2009



podium / floor podiums - table tops

code height  width
no cm cm
1108/P-104

podium quadratic. Can also be used as a table top

together w/1x table leg code no 1123/S/55/70 or

4x code no 1123/S/6/71.

more information on page 44

included

6x adjusting screw

material

mdf melamine with grey pvc edge 3 104

1108/P-155

podium rectangular. Can also be used as a table top together

w/4x table legs code no 1123/S/6/71.

more information on page 44

included

6x adjusting screw

material

mdf melamine with grey pvc edge 3 155

1108/P-208

podium rectangular. Can also be used as a table top

together w/2x table leg code no 1123/S/55/70 or

4x code no 1123/S/6/71.

more information on page 44

included

8x adjusting screw

material

mdf melamine with grey pvc edge 3 208

depth

cm

104

65

104

weight colour
kg code
9,40 white
8,90 white
18,80 white

preestegaard - pricelist / january 2009



p41 podium / addition podiums - floor podiums - table tops

PRIESTEGAARD

preestegaard - pricelist / january 2009



p.42 desks /

desk top base unit column leg + different parts

1123-65 1123-130 1123-130/0 1123/B 1123/BD 1123/BD-P 1123/5/80 1123/S/55/80,5 1123-65/GL-  glass top
1123-65/GLH - glass top
1123-130/GL - glass top
1123-130/GLH - glass top
1123-130/0OGL - glass top

desk top 1123-65
(i 1] Hf\\ H.'_H

desk top 1123-130

desk top 1123-130/0
LI ] | LI LI LI

preestegaard - pricelist / january 2009



p.43 desks /




p.44 desks / top desks - column-/ table legs

code height  width depth weight colour
no cm cm cm kg code
1123-65

desk top for assembling with base unit code no 1123/B,

1123/BD, 1123/BD-P or with table legs code no

1123/S/80 or 1123/S/55/80,5 for demo of product or as desk.

included

1x lock

1x handle

1x drawer

material

mdf wetpainting 15 65 65 15,90 white

1123-130

desk top for assembling with 1 or 2 base units code no
1123/B, 1123/BD, 1123/BD-P or with table legs

code no 1123/S/80 or 1123/S/55/80,5 for demo of
product or as desk.

included

2x locks

2x handles

2x drawers

material 15 130 65 26,00 white
mdf wetpainting

1123-130/0

desk top, oblique for assembling with base unit code no

1123/B, 1123/BD, 1123/BD-P or with table legs 1123/S/80

or 1123/S/55/80,5 for demo of products or as desk.

included

1x lock

1x handle

1x drawer

material

mdf wetpainting 15 130 65 24,00 white

1123/S/80 for mounting to floor

included 1123/S/80

4x bolt M8x30

4x disc

material

chromated steel 80 12 12 12,20 chrome

included 1123/S/55/80,5 / 1123/S/55/70

4x wooden screw

material

polish steel 80,5 55 55 18,50 polish steel
polish steel 70 55 55 17,50 polish steel
included 1123/S/6/71

4x wooden screw

1123/5/55/80,5 1123/S/55/70 material
chromated steel 71 6 6 1,60 chrome

1123/S/80 / 1123/S/55/80,5 / 1123/S/55/70 / 1123/S/6/71
table legs 4 types for assembling with desk top code no
1123-65, 1123-130 or 1123-130/0 and table top code no
1108/P-104, 1108/P-155 and 1108/P-208

1123/8/80 1123/8/6/71

preestegaard - pricelist / january 2009



desks / base units

R

code height  width depth weight
no cm cm cm kg
1123/B

base unit for assembling with desk top code no 1123-65,
1123-130 and 1123-130/0.

included

2x shelves, movable incl. 8x holdes f/shelves

1x lock

1x handle

4x adjusting screw

4x bolt M8x30

4x disc

material

mdf wetpainting 78 55 60 29,50

1123/BD

drawer unit assembling with desk top code no 1123-65,
1123-130 and 1123-130/0.

included

4x handles

4x drawers

4x adjusting screw

4x bolt M8x30

4x disc

material

mdf wetpainting 78 55 60 35,00

1123/BD-P

drawer unit f/photobags for assembling with desk top
code no 1123-65,1123-130 and 1123-130/0.
included

4x handles

4x drawers

4x adjusting screw

4x bolt M8x30

4x disc

material

mdf wetpainting 78 55 60 50,60

1123/BD-W

drawer unit used together with work top code no 1108/P-155.

included

3x handles

3x drawers

4x ball castors

material

mdf wetpainting 58,5 55 60 29,00

preestegaard - pricelist / january 2009

colour
code

white

white

white

white



p.46 desks /

praestegaard - pricelist / january 2009



glass / glass for top desks

code height  width depth weight colour
no cm cm cm kg code
1123-65/GL

glass plate with rounded corners for desk top code no 1123-65

material

hardened glass

included

4x bumpon 1 65 65 8,70 transparent

1123-65/GLH

glass plate with rounded corners and hole for cables

for desk top code no 1123-65

material

hardened glass

included

4x bumpon 1 65 65 8,70 transparent

1123-130/GL

glass plate with rounded corners for desk top 1123-130

material

hardened glass

included

6x bumpon 1 130 65 16,00 transparent

1123-130/GLH

glass plate with rounded corners incl. hole for cables for desk top

code no 1123-130. Can be used placed right and left.

material

hardened glass

included

6x bumpon 1 130 65 16,00 transparent

1123-130/0GL

glass plate with rounded corners for desk top code no

1123-130/0

material

hardened glass

included

6x bumpon 1 130 65 15,20 transparent

preestegaard - pricelist / january 2009



glass / glass shelves

code height  width depth weight colour
no cm cm cm kg code

1210-2

glass shelf rectangular

material

hardened glass

included

4x bumpon 1 51 32 4,00 sandblasted

1210-3

glass shelf rectangular

material

hardened glass

included

4x bumpon 1 51 40 5,00 sandblasted

1210-4

glass shelf rectangular

material

hardened glass

included

4x bumpon 1 80 40 8,00 sandblasted

1210-5

glass shelf rectangular

material

hardened glass

included

4x bumpon 1 103 40 10,00 sandblasted

preestegaard - pricelist / january 2009



glass / glass shelves

() o ¢

code height  width depth weight colour
no cm cm cm kg code

1210-2/R

glass shelf rectangular with 2 rounded edges

material

hardened glass

included

4x bumpon 1 51 32 3,90 sandblasted

1210-3/R

glass shelf rectangular with 2 rounded edges

material

hardened glass

included

4x bumpon 1 51 40 4,70 sandblasted

1210-4/R

glass shelf rectangular with 2 rounded edges

material

hardened glass

included

4x bumpon 1 80 40 7,30 sandblasted

1210-5/R

glass shelf rectangular with 2 rounded edges

material

hardened glass

included

4x bumpon 1 103 40 10,00 sandblasted

1210-6/R

glass shelf rectangular with 2 rounded edges

material

hardened glass

included

4x bumpon 1 57 48 6,60 sandblasted

preestegaard - pricelist / january 2009



praestegaard - pricelist / january 2009




acrylic / priceticket / sign holders, wall model

code height
no cm
1300-A7

holder for priceticket / sign, hanging model size A7
material

acrylic 7,5

1300-A6

holder for priceticket / sign, hanging model size A6

material

acrylic 11

1300-A6HF

holder for priceticket / sign, hanging model size A6, high
material
acrylic 15

1300-A5

holder for priceticket / sign, hanging model size A5

material

acrylic 21

1300-A4

holder for priceticket / sign, hanging model size A4

material

acrylic 30

width
cm

10,5

15

10,5

15

21

depth
cm

weight colour

kg code
0,02 transparent
0,04 transparent
0,07 transparent
0,16 transparent
0,28 transparent

preestegaard - pricelist / january 2009



acrylic / priceticket / sign holders, table model

code height
no cm

1300/B-A7
holder for priceticket / sign, table model size A7
material

acrylic 7,5

1300/B-A6

holder for priceticket / sign, table model size A6

material

acrylic 11

1300/B-A5

holder for priceticket / sign, table model size A5

material

acrylic 21

1300/B-A4

holder for priceticket / sign, table model size A4

material

acrylic 30

width depth weight colour
cm cm kg code

10,5 0,04 transparent
15 0,08 transparent
15 0,14 transparent
21 0,40 transparent

preestegaard - pricelist / january 2009



acrylic / sign holders

code height
no cm

1300/CD

holder for sign for hanging on wall plates

material

acrylic 14

1300/G/103

holder for sign / duatrans used alone on wall plate or
together with opal plate and light box code no 1001/LB.
material

acrylic

code no

1300/G/103-P, plate 31
1300/G/103-H, holder for sign 31
1300/G/51

holder for sign / duatrans used alone on wall plate or
together with opal plate and light box code no 1001-51/LB.
material

acrylic

code no

1300/G/51-P, plate 31
1300/G/51-H, holder for sign 31
1300/C-A7

holder for priceticket / sign, size A7 used with securityarms
code no 1406/S, 1406/L, 1406/V and 1406/VV

material

acrylic 16,2

width
cm

29,7

103
103

51
51

depth weight
cm kg

0,18

3,00
2,00

0,09

preestegaard - pricelist / january 2009

colour
code

transparent

opal
transparent

opal
transparent

transparent



g
— —

s G g~
Trocia] B .
T i w
7

preestegaard - pricelist / january 2009



praestegaard - pricelist / january 2009






Prasstegaard Tegnestue Aps Veerkstedsgarden 14-15 DK-2620 Albertslund Denmark
T +45 43 66 03 90 F +45 43 66 03 95 admin@praestegaardsystem.com www.praestegaardsystem.com



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58
	Page 59
	Page 60

